Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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1 a (06 Marks)
b. (06 Marks)
C. (08 Marks)
']
2 a. Explain the various modes.of failure of bolted connectlons with neat sketches. (06 Marks)

b. Determine the strengt nd efficiency of lap Jomt"“‘if:onsmts of 10 mm and 8 mm thick plates.

(14 Marks)

3 (06 Marks)

BRACKET

i

(14 Marks)

4 a. Determine the shape factor ofa ‘T’ section having a flange width 200 mm and 20 mm thick

with a web of 10 mm thick'and 180 mm depth. (06 Marks)
b. Calculate “plastic mom nt”for the beam as shown in Fig.Q4(b). Use load factor = 2.

Fig.Q4(b) (14 Marks)
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PART - B
Design a tie or tension member using double angle (equq}L legs) section connected on either
side of gusset plate subjected to a force of 300 kN.use suitable welded connection. If the
length of member is 3m. Check for reversal of stresses. ' , (20 Marks)

Design a compression member using dou hannel section “face to face” to carry a
factored load of 1600 kN. The length of thexcolumn is 5Sm with one end is fixed and other
(20 Marks)

Design a column base (slab be’}s%“and concrete base for a.column ISHB400 subjected to an
axial load of 1000 kN. U; ‘M20 grade concrete and ‘safe bearing capacity of soil is

200 kKN/mZ2. Draw neat sketch. Use welded connection. (20 Marks)

classroom 6m x 12m is supported on beam kept at 3m c/c. The beams
are simply supported at ends over a span of 6m and rest on 300 mm thick masonry wall.
Assuming the thickness of slab is 125 mm;.live load on slab is 4 kN/m®. Design an interior
beam using IS specifications. Apply all thle necessary checks. (20 Marks)

The RCC floor Ofw%l
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